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I)Wri'l‘e +wo equivalent decimals +hat name

+he shaded part of each 3r"|d.
0.7 0.70 04,0.90 0.10.0 0.20.20

3>Wr-i+e an equ}Valen+ decimdl.

a) 0.5 0.50 b)0.80 0.8 ¢)0.30,0.3
d) 0.b, 0.60 ¢) 0.4 040 $)o.7o’o.7
g) 0.90 09  })0.2,0.20 1)0.500.5

) core
4) Find the equ'n/qlen-l- decimal \n each group-

2.5, 005050 B(©I19 @), 0.07
) 0.08,(080) d) 0.04),

5) 0.9 .ond G908 Fare equ‘lv.alerﬂ‘ decimals se
both laqs centain the same amount of emons.' The.
baq for $0.82 is the belter buy because @9¢is

|ess +han qg¢.

() The student 15 not correct. O.40 and O.# gre.
equ,'t valent J\ ecimals,
The 40 in 0.40 means 4o hundredths
The 4 'n 0.4 means 4 tenthsg
| Ho hundredths and 4 tenths qre equal



